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Alg2a  Introduction to Grouping 

Factor: 6x
2
 + 5x – 4 The coefficient for x

2
 (A) is  

not 1.  So we can’t start with:   

(x       )(x     ) 

 

Factor:  x
2
 – 2x – 120 Factor x

2
 – 2x – 120 using GROUPING 

 

 

 

 

 

 

 

Factor:  x
2
 + 8x – 84 Factor x

2
 + 8x – 84 using GROUPING 

 

 

 

 

 

 

 

Factor:  6x
2
 + 5x – 4 using GROUPING       Factor 6x

2
 + 5x – 4 using GROUPING 
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Factor using Grouping: 

1) 12x
2
 – 11x – 5     2) 12x

2
 – 32x + 5 

 

 

 

 

 

 

 

 

 

 

3) 18x
2
 + 11x + 1     4) 18x

2
 + 5x - 2 
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5) 24x
2
 - 19x + 2     6) 24x

2
 - 2x – 15 

 

 

 

 

 

 

 

 

 

 

 

7) 20x
2
 + 11x - 4     8) 20x

2
 + 24x + 7 

 

 


